H & 0l & AHS B Ml A

20233 =& 2 2 LetsH EXEE 0

S EXNEED
M XHHN P

el X 2
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EXEE 1,302,965 1,749,142 AN446 AT
= 62,233 62,233 0
Albl 2,850 2,850 0
Tl 1,237,882 1,684,059 N6 AT
INESEELES 1,246,868 1,684,373 437,505
= 62,233 62,233 0
Al 2,850 2,850 0
Tl 1,181,785 1,619,290 437,505
XA 2| 1,024,676 1,462,181 437,505
= 41,088 41,088 0
Tl 983,588 1,421,093 437,505
KETHEAL L2 932,576 1,370,081 437,505
201 Ler=23 | 16,532 16,476 56
01 At2teltl 16,532 16,476 5
Ol d4X+ 8= EXN 2880t ==&
348 4,027,000 4,027 4,426 A39
Oxd= 85 #g ==& 455,000 455 0 455
301 2eEN= 916,044 1,353,605 A437,561
14 JIEt2d= 916,044 1,353,605 N437,561
OWE3X 7 XNEMEAAY =E3
23 916,044,000 916,044 1,353,605 N437,561
HH2LIH(EXNZED) 55,079 63,806 N8, 726
=238l 55,079 63,805 N8,726
Jl=&H| 55,079 63,805 N8,726
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01 SLHo4HI 33,610 42,336 A8,726
OJl=g R0 & 33,610,000 33,610 42,336 A8,726
Hegs(EXNFE) 1,018 964 54
28NE 1,018 964 54
EXEEN SABIExS Bets Il 17 54
802 grat=JIEt 7 17 54
01 =2N2xSeE=s Il 17 54
OUHE4X7 NHTHEAL SEHl S
54,0003 54 0 54




